

بِسْمِ اللَّهِ الرَّحْمَنِ الرَّحِيمِ

۷۴ و ۴۷ و ۲۶ و ۱۱ → در جمله اول نیامده →

$$\rightarrow \frac{1}{5}, \frac{1}{4}, \frac{1}{3}, \frac{1}{2}, 1, \frac{4}{3}, \frac{5}{2}, \frac{11}{5}$$

$$\text{---s)} \quad \tau_{1w} = r(1w) - \left[\frac{(1w)}{r} \right] = r - 1 = \boxed{rw}$$

$\hookrightarrow \sim \sim \sim \rightarrow t_n = (n-1_0)(n-1_1) \rightarrow$

n	1	0	1
$+$	0	$-$	0
x	x	$\checkmark$	x

 $\Rightarrow t_0, t_1, t_2, t_3, t_4$
 $n \in \mathbb{N}$ in $\mathbb{Z}$

$\Rightarrow$ N.B. 5

$\rightarrow \sim \sim \sim \rightarrow t_n = (n-r)(n-q) \rightarrow$

n	r	q
$+$	0	$-$
x	$\checkmark$	$\checkmark$
		x

 $\xrightarrow{n \in \mathbb{N}} t_r, t_c, t_d, t_y, t_v, t_n, t_q$

$$\begin{aligned} &\xrightarrow{\text{Voll}} \begin{cases} t_f = a(f) + b = v \\ t_g = a(g) + b = v \end{cases} \xrightarrow{t_g - t_f} \begin{matrix} v - v = a(g) - a(f) \\ a = v' \end{matrix} \xrightarrow{t_f = v' \cdot f + b} \begin{matrix} t_f = v' \cdot f + b \\ \rightarrow b = -d \end{matrix} \Rightarrow \begin{matrix} \text{Lsg.} \\ \text{Gef.} \\ \text{G. in N.} \end{matrix} \begin{matrix} t_n = a_n + b \\ \xrightarrow[a = v', b = -d]{} t_n = v' \cdot n - d \\ \rightarrow t_{10} = v'(10) - d = 1^f \end{matrix}$$

